Best model for HELP J161110.153+561335.700 at z = 1.511 x%=6.13
OPTx?=6.49 IRx?=6.65 threshold (OPT IR)=20.09 [um]

102 _ Stellar attenuated
§ ----- Stellar unattenuated
] —— Dust emission
107! 4 —— AGN emission
E = Model spectrum
] ® Model fluxes
100 E M oObserved fluxes
';" ]
= 10_1 3 - "‘T‘-r~-l.‘-’\‘\
S E i A,
— :mr‘?'-.*'-'w--v---*
P -2 ]
5 1077 5
[
10—3 4
10—4 4
éo—S _
—
735 —— (Obs-Mod)/Obs
S
n
0 OF=———t—-I - - f e = -
o ]
) ]
2 ]
S ]
2 100 101 102

AR CIGALE

10° 10* 10° fi4
Observed wavelength [um] Sl



